Lecture Outline

March 31, 2008


The topics spanned this morning at 8am covered the second half of Ch. 10 (Externalities) and the first half of Ch. 11 (Public Goods and Common Resources).

Government Solutions to the Problems Created by Externalities (last part of Chapter 10).

For the sake of simplicity, let us consider one particular externality, factory pollution.  Factory pollution creates negative production externalities involving health and sanitation.  Consider the hypothetical town of Pitts with 10 steel mills creating both airborne and waterborne pollution.  The 10 steel mills vary in size and many other characteristics, including the extent of their pollution.

Consider the three methods of government involvement to correct the pollution created by these 10 steel mills in the town of Pitts.

A. Command and Control.  Command and control solution involves a set of regulations, the penalties for violating being fairly costly and immediate, possibly criminal charges.  Such a command and control solution for the pollution in Pitts might be the following.  Let us assume that the 10 factories together create 100,000 tons of pollution per year.  The government requires that every factory reduce pollution by 50% so that the combined total after the regulation is in place leave 50,000 tons of pollution per year.  That is what scientists tell the government will lead an acceptable level of health and sanitation problems.
Economists will not like this solution for the simple reason that it does not ensure the pollution reduction is achieved at least cost.  Some of the 10 factories can reduce pollution very cheaply; some might be able to reduce pollution by 90% at practically no cost.  An economist would say that these factories which can cheaply reduce pollution ought to be the ones doing most of the pollution reduction.  Instead the command and control solution leads them to reduce their pollution by 50% and no more.
B. Pigovian Taxes and Subsidies.  Economists will want a solution that provides incentives to the firms that can cheaply reduce pollution.  A tax on the amount of pollution (note: the tax is on pollution, not output) will accomplish this objective.  The government’s tax becomes the price of pollution rights.  Firms that can cheaply reduce pollution will have an incentive to reduce pollution considerably in order to not pay the tax!  Firms that cannot reduce pollution cheaply will simply pay the tax.  The tax will be set so that ultimately, pollution drops to 50,000 tons of pollution per year.  But using the tax means that the cost of reducing pollution is lighter than in the command and control solution.

C. Pollution Permits.  Here the government prints up permits for 50,000 tons of pollution in one ton certificates.  Then the government issues these permits to each of the 10 factories, lets say 5000 one ton certificates for each factory.  Now, the factories than can cheaply reduce pollution will only need a few permits and the factories than are struggling to reduce pollution willl need more than 5000 one ton certificates so the permits now have a scarcity value and a market for permits appears.  Note: pollution is reduced by 50,000 tons but the reduction is achieved at least cost to society.  The firms that can reduce pollution most cheaply are doing just that and society is better off for their fuller involvement.
D. Why Does the USA rely so heavily on command and control methods if economists are correct that market based solutions (Pigovian taxes and subsidies, pollution permits) are more efficient and maximize total surplus?   It is often the case that command and control methods are used when market solutions involve a license to kill.  Imagine a solution to drunk driving where people traded permits to drive drunk!!!

Public Goods and Common Resources (1st part of Chapter 11).

Certain goods have no price.  Such goods require a separate analysis.  We first ask two questions about a good to see whether it can be analyzed as we have in Chapters 1-7 or something more is required.

1.  Is the good EXCLUDABLE?  Can people be prevented from using the good?
2.  Is the good RIVAL?  Does one person’s use of the good diminish another person’s enjoyment of the good?

Private goods are excludable and rival.  Ice cream cone purchase creates an excludable situation, your sales receipt creates a property right which is protect by custom and criminal statutes.  It is rival because your consumption of the good diminishes another persons enjoyment of the good.  A new car or fresh chewing gum are other examples.

Public goods are neither excludable nor rival.  One person’s consumption of national defense does not involve an excludable situation.  Your consumption of it does not exclude others from consuming it.  Furthermore, its not rival.  If you use national defense, it in no way diminishes the national defense accessible to others. A parade or a street light are other examples.

A natural monopoly exists when a good is excludable but not rival.  Cable tv is such a good.  It clearly is excludable but my use of cable tv does not diminish the enjoyment you derive from it.  Fire protection is another example.

Common resources are not excludable but they are rival.  The Long Island Expressway (LIE) is a case in point.  No car is excluded from the LIE but during most hours of the day whenever a new car gets on the LIE, the enjoyment of the LIE by those already on the LIE is diminished by the increased congestion.
